Name Date

Expanded Form: Which One Doesn’t Belong ?

Directions: Circle the box that has the number that does not belong with the other three numbers. Then, write
an explanation to tell why the circled number does not belong with the other numbers.

"| 30,451,234 | 400,000
5.000 4

The three numbers belong together because

The circled number, , does not belong because

30 40,000
40,000,000 | 340,556,333

The three numbers belong together because

The circled number, , does not belong because
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Name

Date

8,005,088

800

5,000

The three numbers belong together because

The circled number,

, does not belong because

40,000

128,045,288

100,000,000

80,000

The three numbers belong together because

The circled number,

, does not belong because
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